JTSSE SAMPLE QUESTIONS PAPER & ANSWERS, CLASS-llI

GROUP A
SCHOLASTIC APTITUDE TEST : t*if3 eiderel srerw
Total Marks : 40 ESW ¢ 80

Each question carries One Mark : 2fSto! 24 A3 > 799

@@« (Science)

1. —— @999 0 SR SIS WS venig e |
Coordinates the functioning of all the organs of the body.
a.5% (Eye) b. 9 (Nose)
c. %9 (Brain) d. 2+ (Skin)
2. OO (PINRY =l 7
Which of'the following is a spice?
a. 30 (Peas) b. 3fF (Coffee)
c. ¥z (Mustard) d. @lej< (Black pepper)
3. O (PIAY LTI S| oo |
Which one of the following animal remove garbage?
a. 18! (Crow) b. 9<% (Cow)
c. 29! (Elephant) d. FST (Cat)
4, OHR (PERY AN AL 2 0 oAl AR
Which one of the following is not a product of milk?
a. {98 (Ghee) b. GT1 (Honey)
c. ™ (Curd) d. f& (Cream)
5. wifel fmiige @ fwanl coref<is e —
The gas we exhale is —
a. ©IfFe (Oxygen) b, <25 °ce (Nitrogen)
c. FIT-TIZ-S@AZT (Carbon dioxide)
d. St (Methane)
6. SR =& (@PERY (N0 JFe] I 2
Which gas releases energy from food?
a. SIfFCS (Oxygen)  b. 23 te (Hydrogen)
c. FIF-T2-51HIZT (Carbon dioxide)




| d. {59 ¥BIe 923 (None of the above)
| 7. GRES® —— Bl Ol s 391 (202
I LiVing things are divided into — kingdoms.
b.3 c.5 d.2
l's. WWWW 2RI T —
| The smallest planet of solar system is—
: a. 1{5%“\‘) (Jupiter) b. ¥ (Mercury)
c. 7JI4<1 (Earth) d. (17ip< (Neptune)
I 9. OO (FIIRY AlTTS TITH |
| Which one of the following is solube in water.
| a. 495 (Glucose) b. 2% (Plastic)
: c. 5 (offeee (%%k Pencil) Qrd. <ifeT (Sand)
10. &R (FRY SRS AT AL 2
| Which of'the following is a substance with no specific volume?
I a. #i=1 (Water) b. fFei?l (Book)
| c. (3 (o1 (Kerosene) d. #1119 @i (Water vapour)
| 11. << BIRSHIC 9% (S99 FoT© SIS AT 27 |
| Plantation around the house helps us to
| a. W7 (4 #If3ea® (Keep mosquitoes away)
| b. 74 (#1231 =191 Sife] 2@ (Keep sunlight away)
| c. 71 “if¥%iT FF 72 (Keep water clean)
: d. A sifwia F 7@ (Keep the air clean) .
12, it 2 =i Sfegn s{-oifb Sl (2= T smidRem s s —
: The s%bgtance produced due to the decomposition of plants and
animals is—
: a. @I (Clayey soil) b. &E% (Humus)
| c. ?ﬁ?ﬁ’ﬂﬂﬁ? (Sandy 2%1) d. @si<3 «bie 23 (None of these)
| 13. B S F91 oWy ToT—
| The substance attracted by magnet is —
| a. 15 (Wood) b. Flsf&r (Paper)
: ¢. 5 (Soil) d. Gl (Iron)
14.  CTRGSTeS T5qC6! 2ei—
I
I

The star of the solar system is —




a. ‘SBI/T (The Sun) b. 5% (The moon)
c. "jﬁl?[ (The earth) d. ¥& (The venus)
TGRS (AR AR R —

The animal found in desert is —

a.©5 5418 (Ostrich) b, G#6I (Owl)

¢.T6 (Camel) d. sl (Donkey)
I o 67 AR TA—

The total no. of colours of Rainbow is —

a. 7 b.9 c.8 d.3

97 W2 *F ] TRee] eAF—

The body temperature of healthy man is approximately.
a. 37° (ZRAZ (37°C) b. 47° (IR=NE (47°C)
c. 73° (ERAZ (73°C) d. 74° (IRNE (74° C)
woq OS] 2Ty 2 —

The omnivorous of the following is —

a. <9 (Tiger) b. $F9 (Dog)

c. 77l (Snake) d. 9= (Cow)

OoTq (IO TF 72T 2

Which of the following is not a machine.

a. /1<l (Fan) b. &S’ (Radio)

c. 73 (Television)  d. G (Table)

(S (AIZ3F F197C Gow BeAI[Y ToT—

The Festival related to light of the moon is —

a. TS| el (Saraswati Puja)

b. ’{(‘»ﬁ 7l (Durga Puja)

c. I VR (Rash Mahotsav)

d. @5{<9 bIs 727 (None of these)

aifre (Mathematics)
T AFHEoTS Ryl AT 2

Which numbers occurs in the empty box?
930, 933,[_1,939, 942

a. 934 b. 935 c. 936 d. 937
21611 912 59341 /Fill in the blank.




— + 80+ 8=2888 |

a. 8 b. 88 c. 80 d. 800 |

23. 1941 1000 o1 =il fofb1 sy el iz ? |
How many three digits numbers are there in between 1 and 10007 |

a. 1000  b.999 c. 900 d. 990 |

24, SFF 2TEYREAZ 7, 2 O 5(F YICS FAG! FfFG vk [T |
Ry ferfea ofif e |

How many three digits numbers can be form using digits 7,2 and |

5 if repetation of digits is allowed? I

a. 6 b.9 c. 18 d. 27 |

25. 41 +42+43 + —ommmm- +50="7? |
a. 455 b. 555 c. 655 d. 755 |

26. el 9Rb {6 w1y Afea e |
Which number will occur in the empty box? |
35x57=35x1+35x7=30x57+[_1x57 I

a. 50 i< (and) 7 b. 50 i<k (and) 5 I

c. 30 =<k (and) 7 d. 30 1< (and) 5 |

27. AT ARG +, —, X S + ol (FLBI (PIFCO! foel Af2 2 |
Which sign of +, —, x and + will occur in the empty box? |
79C379=1 !

a.+ b. — C. X d. + |

28, 51 ST 1303 2 FACS OIoet 28 9 A1 5 o o | |
TR 2 I
I

I

I

I

I

I

I

I

I

I

I

I

I

When a number is divided by 13; quotient is 28 and remainder is
5. What is the number?
a. 359 b. 369 c.379 d. 389
29. T FHacere Joce Fo! fags wiz?
How many triangles are there in the given figure?
a. 7 b. 8 c.9 d. 10
30. ol CAIA (FREIF F 71 Tl HE e 29—

Ifthe following fractions are arranged in ascending order then

33 3 3
we have— 372
3 3 3 3 33 3 3
a§,7,gaz b.Z,g,7,§



a. 69! (6 hours) b. 12991 (12 hours)
c. 18 9%i (18 hours)  d. 209! (20 hours)

32, 2004 59 SIS 22 FAICoIe A1 G S12d o< RICHITe 9 |
e o1z el 2 |
How many days are there from the 1st day of january to the last |

day of June 0f 2004?
a. 181 b. 182 c. 183 d. 184

33, OO (IO SIS boge %3 2
Which one of the following figures is not a quadri laterel?

[ e

34. 2000 51 TR0 fFN 50 GHRN (G el 2

I
I
I
I
I
I
I
I
I
I
I
I
How many notes of Rs. 50 are required to make Rs. 2000? I
a. 40 b. 50 c. 80 d. 100 :
I

I

I

I

I

I

I

I

I

I

I

I

I

|

3 3 |

31. 1" ==?/=of1day="? |
4 4 I

|

I

C.

35. 5609 =91 70 (P2 RS S #fif< 2
How many times 70 can be subtracted from 560?
a. 70 b. 80 c.7 d.8

36. OEE (IS SRFEIS *++* fooq i 5 i 292

What will be oceur in place ****of'in the following addition?
1234

% %k %k ok

5670

a. 6904 b. 5904 c. 4436 d. 3436
37. 26x6x0+26="7
a.0 b. 26 c. 1 d. 6



38, Oofd CHINCH! ALATE 2{%ei R sfger Jenig 2
Which of'the following numbers represents fifty thousand fifty?
a. 5000050 b. 50050 ¢. 50500 d. 500050

| |
| |
| 39. e (IO Siphes wifie w112 2 |
| Which of the following shapes has no edge? |
| a. (5197 (Cuboid) b. @& (Cyeinden) |
| c. *kF (Cone) d. CaleT<s (Sphene) |
: 40, OFS CHICHIN ZORFE A IR 2 :
| |
| |
| I
| |
| |
| |
| |

Which division of the following is not defined?
a.0+4 b.4+-0 c4+4 d4-+1
GROUP B
MENTALABILITY TEST : T Am<f ererst
Total Marks : 30 ESW 8o
Each question carries One Mark : 2if$t5! 21 31t > 799

| Direction : In each of the questions 4145, a series is given with one |
| term missing. Choose the correct alternative given below that will complete |
| the series. |
| P 3 ©o1a 41-459% 2%® GBIt (I sl =IitR | []es Searaiea oid1 A |

| S1ZQ A <51 517 Fefr FR 051 AT ETCH! 754 27 |

(a) 27 (b) 28 (c) 29 (d) 30
45. 66,77, 88,99, —
(a) 110 (b) 111 (c) 999 (d) 109
| Direction : In questions 4650, there are four terms in each question. |
The relationship that exists between the first two also exists between the
last two. But one term is missing. The missing term is one of the four
| alternatives given below. Find out the correct alternative for each question. |
Iﬁw‘m 246 SOR\W‘&HWN HIRGIC v TR | AN AL OIS ere I
I ! HFCH! (<179 419 Nierre! A | 758 GBI 217 7 (7 0z | 9 205! I
|sz— @ BIfG! s o1 e = aiieat | I

I

| 41. A, b, C, — I
| (@D (b)d (c) E (d) e |
|4 P,q,R, — |
(a) T (b) Q (c) s (d S |

43. LM, NO, PQ, —

(a) ST (b) RS (c) UV (d) SR :

I

I

I

|
|
:44511 17,23, —
|
|




r--r——————"—"F"———(—( —"—"—"—"—"————— |
|46. 10:100: :11:?

| 50. May : June: :March:?/ (Nsgas G2 ?

| (a) February (b) July (c) April (d) August

| (@ FEIST (b) G112 (c) @l (d) =i

irection : In questions 5155, each has four terms. Three terms are

Direct In quest 51-55 h has four t Three t

| alike in some way while one term is different from others. Find the odd |
one out.

| et ¢ 51-55a% 29 2ifothIes BIRG! +7 it | 3RS Fofb! f5al Fere @ |

| < 31! | S @bicg fom 1 oty | fRenvieh Aifb Sfere |

| 51.(a) 3 by 7 (c) 10 (d 11

| 52. (a) 16 (b) 20 (c) 21 (d) 24

| 53. (a) Carrot (b) Potato (c) Tomato  (d) Ginger

|, @ (b)eig  (c) T (d)

| (@9 (b) 101 (c) 111 (d) 121 :

|47.4:8::16? I
(a) 24 (b) 32 (c) 48 (d) 64

l48. A:1: :v:2 |

(a) 1 (b)2 (c) 25 (d) 26 I

| 499. TEN:3: :NINE? I

| (@4 ()5 (c) 6 @9 I

I

I

I

54. (a) Gold (b) Silver (c) Iron (d) Hydrogen
" @ e ()3 (o) e (d) F2gTem
| (@) ues (b)&@&  (c) b (d)

| 56. What is the mirror image of 7-
7 FRCH] SATIS BT (PP == ?

a) Y () A\ © L (d)7

57. What is the mirror image of F ?

F SUI<SC5! SR BITE (Rl (iR 2

I
I
I
I
I
I
| 55. (a) Doctor (b) Injection (¢) Nurse  (d) Pharmacist :
I
I I
I I
I I
l @F (b (© 1 (@ 4 |
| Direction : In questions 58—60, numbers are placed in the figure on the I
I basis of some rules. One place is vacant and indicated as a question |
| (?) mark. Find out the correct alternative to replace the question mark. |
| et 8 58-60 71 2 AfSCBIe fegaia e e sive fofe i fegaia ik |
I
I
I
I
I
I
I

fo@a CoTCe frtl T20m | OIta @51 B <IET! g S O @5l 2Rl B |

(?) W | 2H[IeS e 3927 s Tea@es #191 fZa 51 |

|
11 19 10 |

S8 1713 614 2@8 |
9 11 1 [

|

(a) 10 (b) 15 (c) 20 0 (d) 30



2 3 2 2 3
(a) 13 (b) 14 (c) 15 (d) 18
Direction : In questions 61-63, there are three problem figures followed
| by a question mark (?) for the fourth one. There exists some relationship |
| between the first two problem figures. A similar relationship should exist |
between the third and the fourth problem figures. Find the one from the

I answer figures that correctly replaces the question mark. I
| oot 2 61 o1 637% 2iTzs FofBITE w1 o w1 bwelibTe B! 2l |
| 52 ( 2) @itz | 212w 751 foas fixmem 7o Sz TE R I SRS G2 GFEeR
| o 21 | Saw oammea =1 vod o) fik 3@ ael Ace e e
| >7eife <z st |

| 61. Problem figures (1@p1 o)

| 3 2 10 I
ERVAN /\ |
| 6 4 7 5 8 12 I
I @10 (b) 11 (c) 12 @) 13 |
: 31 14 11 :
| 60. 12 24 ? I
| |
| |

AEIREE
Answer figures (3&3 f59)
Ol®|9 |0

@ ® (o) (d
62. Problem figures (3707 f5@)

VAL Z]~»
Z | S| N | U

@ (® (o) (d)
63. Problem figures (37507 f5@)

O |00 |I|AA | 2

Answer figures (¥&4 59)

|
|
|
|
|
|
|
|
|
: Answer figures (9@< 59)
|
|
|
|
|
|
|
|



(@ G (© (@
Direction : In questions 64—66, on the left side three problem figures I
| are given and a question mark (?) is put for the fourth. The problem |
| figures have some relations in their sequences. Pick the correct answer |
| figure which can replace the question mark. [
| =il 2 643 511 6677% 2R fofNbits Jpi o il eItz @i seihre <l |
| I 52 (2) Btz | P foeTe SR (<RI <61 799 ol | Ted hared |
| #1151 o fioet 51 10S ersieatees oz sFeTiel i =it T | |
| 64. Problem figures (3707 f5@)

— =172
Answer figures (9@< 59)
=T
(@) (b) (©) (d)
65. Problem figures (37507 f5@)
—> l <« 9
Answer figures (9@< 59)

(a) (b) () (d)
66. Problem figures (37511 f5@)

£ | A 2

Answer figures (¥e4 59)

[ oj| o |a

(a) (b) (c) (d

I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
: :
I — —| 1 I
I ) I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I



r-— - T — - 1
| Direction : In questions from 67-70 given below, there are four figures |

| in each question. Three figures are alike in some way while one figure is |
different from others. Find the odd figure out. |
Froteet ¢ 673 o1 70 7R pTES 2ifSTors Siftits e fr =itz eIt fefio! &5t I
PIFerS Ay| 1 TileT 2/, g b1 TRomv! 31 =ifSie | @2 Sifefe To@co! Aife Sferia e |

6.1 A E I Q
(a) (b) (©) (d)

68.| F M 4 m

(a) (b) (c) (d)

o

o o | o o
O] 6 06 |o ofo00
(a) (b) (c) (d)

o O] O | A | H

(a) (b) (c) (d

o O
[eXoXe}
o O

GROUP C
GENERAL KNOWLEDGE & CURRENT AFFAIRS : #igi<e
Total Marks : 20 S[@SW g R0
Each question carries One Mark : 2fSto! 241 373 S 799

71. TN OIOTIT LTI 9IIF I 2
Who is the present Prime Minister of India?
a. SIf® %12 (Amit Shah)
b. T (ST (Narendra Modi)
c. qreiel Pk (Rajnath Singh)
d. &= GAiteliiet (Sarbananda Sonowal)




VI TFCOI SR 2o —

The television was invented by —

a. 2NN (9&1 (Grahma Bell) b. (& @& (F=1 (J. L. Baird)
c. B2z (Einstein) d. SI19geT TS (Abdul Kalam)
TR (PRI (ISR [FRE FTCACE 2

Which one of the following doesnot play cricket?

a.*[b 1 (©¢&TFIF (Sachin Tendulkar)

b. ﬁ@i@ﬁzﬂ (Baichung Bhutia)

c. 37161 (0d (Kapil Dev)

d. TG @t (Virat Kohil)

PN (FEIA (0% ACF 2

How many legs do the Octopuses have?
a. 4 b.5 c.7 d. 8

Oold (T4 TFeTe bz ([@fe ofb A2

Which one of the fruits below contains maximum numbers of

seeds?
a. 257 (Plum) b. ®II¥ (Mango)
c. Fo1e (Jackfruit) d. &5 (Litchi)

IS (MO T I 40 2] | 7 I23< e AG K

O] I AT IR T 2

The present age of Rajeev's father is 40 years. What will be the

age of Rajeev's father after 7 years?
a. 41 b. 42 c. 45 d. 47

ST ALY ST 2 —

The first Journal of Assam is —

a. SIRP (Goriyokhi) b, #if%% (Prantik)

c. S (Orunodoi) d. (SIS (Jonaki)
eI (2T I RS AR ST (a2

The first Assamese player who wins medal in olympic games is —

a. {251 w3 (Hima Das)

b. &F Ole]FnIS (Jayanta Talukdar)

¢. STee1 =1 9011212 (Lovlina Borgohain)

d. T (541 (Uma Chetri)

‘EfoTR RewE A — G2 TSR 614 I ST T oT—



-
'Jilikaba Luitare Par'—the composer and the singer of this song
is—

I
a. %4 <<l (Rudra Barua) :
b. & g Bl (Dr. Bhupen Hazarika) |
c. A0 ¥2F (Khagen Mahanta) |
d. FifEmE gl (Kirti Kamal Bhuyan) |
80. ST (FIFL SHITRN TR vote e qgw Il olfe Ffzr |
Which among the following cinemas wins national award in this :

year?
a.99® (Raghupati)  b. 2roRg (Hatibandhu) |
c. ARIST (Bowari) d. %< (Raghab) :
81. TSN 7jfedTe Al WGIZ(F TieT 2l 2A— |
The largest animal present in the world is — |
a. 2! (Elephant) b. &S (Hippopotamus) |
c. <Ta fSfs (Blue Whale) d. ©i%s’59 (Dinosaur) |
82. NICeTe T G Ti— |
The capital of Nagaland is — |
a. SN2&e (Aizal) b. 7@ (Shillong) |
c. ¥ f2s1 (Kohima) d. 2559 (Itanagar) |
83. PN (Fl1e e “wetios] 99 SR%S ? |
In which district of Assam the "Talatal Ghar' is situated? |
a.<4'e (Nagaon) b. =TS (Sibasagar) :
c. @ (Dibrugarh)  d. (X926 (Jorhat) |
84. oifRIN g2 TSI TS — |
The biggest ocean of the world is — |
a. ©[F© WA (Indian ocean) b. SGAIGF (Atlantic) |
c. @ 321919 (Pacific ocean) d. a1 11919 (Bay of Bengal) |
85. (LN (=i #jfRIT ollq AIRer et e A 2 |
Which country of the following is known as the Sugar bowl of |
the world? |

a. @@ (India) b. (GiF (Denmark) c¢. fF&al |
(Cuba)  d.<IBb (Mauritius)

86. Tfgm e Ay $°© Beofd H(?
Where do the plants produce their food?




a. f%i%Ii® (in roots) b. #i9% (in leaves)
c. -91=9 (in stem) d. %79 (in fruit)

87. OO (FIE (TS 19 FRAF AR (91512 S (22 ?
Which one of the following countries the 19th edition of Asian
Games was held?

a. ©Ig (India) b. 519 (China)
c. A=l (Bangladesh)  d. @ni#fie (Japan)
88. IS TP ST T o—

|

|

I

|

|

I

|

|

I Present Governor of Assam is —

| a. ©° {25 {54 *I5ff (Dr. Himanta Biswa Sarma)

| b. @eTIGIW SIS (Gulab Chand Kataria)

| C. &% I <1 (Jayanta Malla Barua)

| d. &= GICelie (Sarbananda Sonowal)

| 89. B GADIN B[ (2rz—

| The festival of Tea Tribe is —

| a. T #fe (Bathow Puja) b. 3<% sl (Karam Puja)
| c. BINie (Samankan)  d. (WIS (3 =F (Me-Dam-Me-Phi)
I 90. DHAN POITF TS T (FIVCH! RPN ASFFOI TS ?
|
|
|
|
|
|
|
|
I
|
|
I
|
|
I
|
|

Which one of the following institutions is directly associated with
Chandrayan-I11?

a. (G =1cel (NITI Ayaog)

b. N5 =Iizztet (Election Commission)
c. 3%l (ISRO)

d. <=l (NASA)

GROUP D
ENGLISH GRAMMAR : 353Gt qjiael
Total Marks : 10 57942 S0
Each question carries One Mark : 2fSto! 24 373 > 799

91. The antonym for the word ‘beautiful’ is .
a.good  b.cute c.ugly d. smart
The contracted form of ‘did not’ is .
a.didn’t  b.didnot c.did’not d.didnt
93. The young one of dog is called .

ey
N




a. foal b. cub c. chick d. puppy

94. Therhyming word of book is .

a. cook b.mood c.bull d. bail
95. Thehome of ahorse is .

a.kennel b.stable c.den d. burrow
96. The opposite of heavy is .

a. tall b. short c. light d. thin
97. The contracted form of ‘will not’ is :

a. willnt b.won’t cwilln’t  d. will’'nt
98. The opposite of ‘dirty’ is .

a.beautiful b. clean c. good d. clear
99. Choose the correct form of REMOTH .

a.mother b.motor c.remhot d.none
100. Choose the correct form of HOOCSL .

a. SOOCHL b. SCHOOL c. LOHOCH d. None
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